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Worksheet # C41: Net Ionic Equations

I. Short Answer:

1. What is an ionic equation? ___________________________________________________________________________________

2. What is a spectator ion? _____________________________________________________________________________________

3. What is a net ionic equation? __________________________________________________________________________________

II. For each of the following, first balance the equation. Then write out (cie) the complete ionic equation and (nie) the net ionic equation 
for each.

4) ___AgNO3(aq)  + ___ CaCl2(aq) ----> ___ AgCl(s) + ___ Ca(NO3)2(aq)
 
 
  cie) _______________________________________________________________________________________________________

  nie) ____________________________________________________________________________  

5) ___ Cu(s) + ___AgNO3(aq) ----> ___Ag(s) + ___ Cu(NO3)2(aq)

  cie) _______________________________________________________________________________________________________

  nie) ____________________________________________________________________________

6)  ___ HCl(aq) + ___ Zn(s) ----> ___ H2(g) + ___ ZnCl2(aq)

  cie) _______________________________________________________________________________________________________

  nie) ____________________________________________________________________________



7) __ Na2SO4(aq) + __ Pb(NO3)2(aq) ---> __ PbSO4(s) + __NaNO3(aq)

  cie) _______________________________________________________________________________________________________

  nie) ____________________________________________________________________________

III. Now see if you can skip the long step. First, balance the equation. Then write out just the net ionic equations for each.

8) ___ KOH(aq) + ___ ZnCl2(aq) ----> ___ Zn(OH)2(s) + ___ KCl(aq)

  nie) ____________________________________________________________________________

9) ___AgNO3(aq) +  ___ HCl(aq) --->  ___HNO3(aq) + ___ AgCl(s)

  nie) ____________________________________________________________________________

10) ___Na2S(aq) + ___ Fe(C2H3O2)3(aq) ---->  ___ Fe2S3(s) + ___ NaC2H3O2(aq)

  nie) ____________________________________________________________________________
 

For these last two, balance the equations and show which of the chemicals is (s) and which is (aq). Then show the net ionic equation 
for each.

11)  ___Ca(NO3)2(____)  + ___K3PO4(____)  ---> ___Ca3(PO4)2(____)  +   ___KNO3 (____)

  nie) ____________________________________________________________________________

12)  ___(NH4)2CO3(____)  +   ___AlBr3(____) ---> ___NH4Br(____)  +   ___Al2(CO3 )3 (____)

  nie) ____________________________________________________________________________


